Question 24:  How do you identify/locate organic buyers currently? (Mark all that apply).
I analyzed this similarly to #16, but in this case, the five choices are somewhat independent.  Marking one of the choices wouldn’t change the likelihood that someone would mark a different choice.   They are not as independent as the options under #15, however.  They are all clearly part of the same question.  

So.  If people filled in question 24 at random, then each possible choice should be chosen 50% of the time.  There were 17 surveys that were blank for question 24, so only 192 people filled out question 24.  That means if filled out at random, each choice should be chosen by 96 survey-takers.  (Statisticians may quibble over whether to delete the missing-data surveys or not.  I did delete them, because you had an “other” choice, so those who didn’t answer must have felt that the question was somehow not applicable to their operation.)
Actual scores were:
A = 159

B =   69

C =   83

D =   38

E =   55

Note that for this data set, the random chance number = 96 is rather different from the mean of the five numbers, mean = 81.  That means there could be some quibbles over using the standard deviation calculated from the mean to discuss distances from the random chance number.  I think, though, that the options A and D are far enough outside of one standard deviation that it’s really not an issue.  If they were really close to edge, it could be.

The standard deviation (SD) for these 5 numbers is 47.

-2 SD =      2
-1 SD =     49
Random chance number = 96

+1 SD = 143
+2 SD = 190
So, as for question 16, you can say that choice A was clearly important – more than one standard deviation larger than the random chance number.  
Choice D is clearly of low importance because it was more than one standard deviation smaller than the random chance number.
